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Section A Very Short Answer Type Questions

1. Find the multiplicative of 7 4 4.

° Watch Video Solution

2. Simplifiy

i+t i ...+ (2n+ 1) terms

° Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_T6OQkVK4zWlS
https://dl.doubtnut.com/l/_5Rh2Jx2GQlwH
https://dl.doubtnut.com/l/_pw88RdW5A3LP
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3.If £ = cisf, then find the value of {xﬁ + —6].
T

° Watch Video Solution

4.Form quadratic equation whose roots are:

p—q —p+gq
P ,(p# £q

° Watch Video Solution

5. Find the algebraic equation whose roots are 2 times the roots of

x5—2x4+3x3—2m2+4x+3=0

° Watch Video Solution

6. Find the the number of functions from a set A containing 5 elements

into a set B containing 4 elements.

° Watch Video Solution



https://dl.doubtnut.com/l/_pw88RdW5A3LP
https://dl.doubtnut.com/l/_v8K0NZQRUaPc
https://dl.doubtnut.com/l/_t82Tc4gwXsUL
https://dl.doubtnut.com/l/_DR4VKi67gqAT

7.1f 15027«_1 = 15C’2r+4,ﬁnd r.

o Watch Video Solution

8.1f 22C, is the largest binomial coefficient in the expansion of (1 + a:)22

’

find the value of 1*C,.

o Watch Video Solution

9. Find the mean from the mean of the following discrete data 6,7,

10,1213,4,12 ,16

o Watch Video Solution

10. For a binomial distribution with mean 6 and variance 2, find the first

tow terms of t6he distirubiton.

e l


https://dl.doubtnut.com/l/_DR4VKi67gqAT
https://dl.doubtnut.com/l/_mJ5gha87ul4S
https://dl.doubtnut.com/l/_HSpipuji9bnF
https://dl.doubtnut.com/l/_uKxUr6bNjpaO
https://dl.doubtnut.com/l/_jFTnZ8cuE9L5
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Section B Short Answer Type Questions

z+1

1.If the real part of is 1, then find the locus of z.

z+1

° Watch Video Solution

does not lie between

1 1
2. Prove that + —
3r+1 z+1 (3z+1)(xz+1)

1and 4, if x is real.

° Watch Video Solution

3. Find the number of 4- letter words that can be formed using the letters
of the word. MIRACLE. How many of them

begin with an vowel

° Watch Video Solution



https://dl.doubtnut.com/l/_jFTnZ8cuE9L5
https://dl.doubtnut.com/l/_PbUs38NgB1eE
https://dl.doubtnut.com/l/_xrfNUpcZQCWs
https://dl.doubtnut.com/l/_x5JhkNkDsIm6

4. Find the number of 4- letter words that can be formed using the letters

of the word. MIRACLE. How many of them

begin and end with vowels

° Watch Video Solution

5. Find the number of 4- letter words that can be formed using the letters

of the word. MIRACLE. How many of them

end with a consonant ?

° Watch Video Solution

n 1.3,5...... dn — 1
6. Prove that — Com _ : ( )2
"Ch {1.3.5...(2n — 1)}
° Watch Video Solution
32 —22% — 1 . .
7.Resolve into partial fractions.

xt+ 22+ 1



https://dl.doubtnut.com/l/_DzwzF1Ulq3WT
https://dl.doubtnut.com/l/_pTyxf2K7gN5E
https://dl.doubtnut.com/l/_ku8oIwIcULup
https://dl.doubtnut.com/l/_IsF7SiuvoG0m

| ° Watch Video Solution

8. The probabilities of three mutually exclusive events are respectively

1+3P 1-P 1-2P

given as 5 T 5 Prove that
L <P< 1
35053

° Watch Video Solution

9.1f A and B are independent events of a random experiment show that

A® and BC are also independent.

° Watch Video Solution

Section C Long Answer Type Questions

1. If a, B are the roots of the equation z? — 22 + 4 = 0 then for any

n € N show that o 4+ g™ = 2" "1 cos(%).

[ o S |


https://dl.doubtnut.com/l/_IsF7SiuvoG0m
https://dl.doubtnut.com/l/_vfkK3P0p2bxm
https://dl.doubtnut.com/l/_SlRE82iVkyWA
https://dl.doubtnut.com/l/_1s8oYJxeskcU

[ @ Watch Video Solution ]

2. Find the polynomial equation whose roots are the translates of those

of the equation z* — 52® + 722 — 17z + 11 = 0 by -2.

° Watch Video Solution

3. If the coefficients of z”, 2'°, z!! in expansion of (1 + z)" are in AP,

the prove that n* — 41n + 398 = 0.

° Watch Video Solution

1.3 n 1.3.5 . 1.3.5.7 n
T =
3.6 3.6.9 3.6.9.12

9z% + 24z = 11.

4. |If

then  prove that

° Watch Video Solution



https://dl.doubtnut.com/l/_1s8oYJxeskcU
https://dl.doubtnut.com/l/_fnhj1uGjoWl3
https://dl.doubtnut.com/l/_tYHJYkYBIrAr
https://dl.doubtnut.com/l/_lCSATYNFxY0D

5. Find the mean deviation about median for the following continuous

distribution.

Marks Obtained  No.of Boys
0—10 6

10 — 20 8

20 — 30 14

30 — 40 16

40 — 50 4

50 — 60 2

o Watch Video Solution

6. Suppose that an, urn B; contains 2 white and.3 black balls and another
urn B, contains 3 white and 4 black balls. One urn is selected at random
and a ball is drawn from it: If the ball drawn is found black, find the

probability that the urn chosen was Bj.

o Watch Video Solution



https://dl.doubtnut.com/l/_rqUxr8vdxz7R
https://dl.doubtnut.com/l/_Zs1PmFbyRlpO

7.Arandom variable X has the following probability distribution:
X=z PX=u2

0 0

k

2k

2k

3k

k2

2k?

TR+ k

N O O W N -

Find k

o Watch Video Solution

8. Arandom variable X has the following probability distribution:
X=z PX=u2

0 0

k

2k

2k

3k

K2

2k?

TR + k

N O Ot s W N

Find the mean

| o


https://dl.doubtnut.com/l/_Osf7zZeVVaJc
https://dl.doubtnut.com/l/_uFnfb5Ljx2jK

| & Watch Video Solution

9. Arandom variable X has the following probability distribution:
X=z PX=ux
0 0

k

2k

2k

3k

k2

2k?

Tk + k
Find p(0 < z < 5)

~N O Ot s W N

° Watch Video Solution

Section A | Very Short Answer Type Questions

ot

1. Write the conjugate of complex number T
1

° Watch Video Solution



https://dl.doubtnut.com/l/_uFnfb5Ljx2jK
https://dl.doubtnut.com/l/_vlz7mNKhCyqS
https://dl.doubtnut.com/l/_7c00vXZv9mH0
https://dl.doubtnut.com/l/_qNbyUvOsikqi

2.Express 1-iin modulas - amplitude form.

° Watch Video Solution

3. If ABC are angles of a triangle such that

x = cisA,y = cisB, z = cisC, then find the value of xyz .

° Watch Video Solution

4. For what values of x, the following expressions are negative ?

15 + 4z — 322

° Watch Video Solution

5. Find the transformed equation whose roots are the negative of the

roots of z* +523 + 11z +3=0

° Watch Video Solution



https://dl.doubtnut.com/l/_qNbyUvOsikqi
https://dl.doubtnut.com/l/_vS19NjwETLFA
https://dl.doubtnut.com/l/_XCes3McLgugR
https://dl.doubtnut.com/l/_mq8zy8l1ZxQq

6. Find the number of 4 letter words that can be formed using the letters

of the word PISTON in which atleast one letter is repeated.

o Watch Video Solution

7.1§10."Cy = 3.""1C; find n.

o Watch Video Solution

8.ProvetheCy +2.C; +4.C5 +8.C5+ ... +2".C, = 3"

o Watch Video Solution

9. Find the variance for an ungrouped data 5, 12, 3, 18, 6, 8, 2, 10.

o Watch Video Solution



https://dl.doubtnut.com/l/_9TeUL2ZimmSK
https://dl.doubtnut.com/l/_ESzO2zkDOmu3
https://dl.doubtnut.com/l/_COsODdNIz1eq
https://dl.doubtnut.com/l/_IF16ZAOuwBS4

10. The probability that a person chosen at random is left handed (in
hand writing) is 0.1 what is the probability that in a group of ten people

there is one and only one who is left handed.

° Watch Video Solution

Section B li Short Answer Type Questions

1. Show that the points in the Argand plane represented by the complex

3 1
numbers —2 4 73, — 5 + 3 + 14 — 32';(1 + i) are the vertices of a

rhombus.

° Watch Video Solution

1 1 1

— does not lie between
3z+1 z+1 (Bz+1)(z+1)

2. Prove that

+

1and 4, if x is real.

° Watch Video Solution



https://dl.doubtnut.com/l/_5wuqDIkARw2X
https://dl.doubtnut.com/l/_RXZNjHlCNPaE
https://dl.doubtnut.com/l/_kHZuAY2PsvT3

3. If the letters of the word MASTER are permuted in all possible ways and
the words thus formed are arranged in the dictionary order, then find the

rank of the word MASTER.

° Watch Video Solution

4n 1.3,5...... 4n — 1
4. Prove that Con = ( )

?Cp  {13.5....(2n — 1)}

° Watch Video Solution

22 + 3z +4 . :
5.Resolve the into partial fractions.
(z — 1)(2? + 2)

° Watch Video Solution

6. If AB,C are three events , Show that

p(AUBUC) =P(A)+P(B)+P(C)—-P(AnB) - P(BNC) - P(C

| e |


https://dl.doubtnut.com/l/_kHZuAY2PsvT3
https://dl.doubtnut.com/l/_T9400Zg0NdTp
https://dl.doubtnut.com/l/_kkmY1nf2cSxC
https://dl.doubtnut.com/l/_NZhkEDsnBtva
https://dl.doubtnut.com/l/_q8Uy9LL9fN9V

| &J Watch Video Solution I

7. A problem in calculus is given to two students, A and B whose chances
of solving it are 1/3, 1/4 respectively. Find the probability of the problem

being solved if both of them try'independently.

o Watch Video Solution

Section C lii Long Answer Type Questions

R : If n is a positive integer then

(1+i)"+ (1 —9)" =2"/2)+1 cog nTw

° Watch Video Solution

2.Solve z* — 422 + 8z + 35 = 0 ,given that 2 + 7,/3 is a root.
g

| ° Wiak A \tdAAaA CAlLiikiAan



https://dl.doubtnut.com/l/_q8Uy9LL9fN9V
https://dl.doubtnut.com/l/_3Xz0Xl0934e5
https://dl.doubtnut.com/l/_FymPFm1axAbn
https://dl.doubtnut.com/l/_6rerV1m4BGaC

8 YVULLIL VIVMLUD JUVIVGIVIL J

3. If the coefficients of 7', (r +1)™ and (r +2)"? terms in the
expansion of (1+z)" are in AP. then show that

n? — (4r + D)n + 4r* — 2 = 0.

° Watch Video Solution

_ 13 135 1357
Y736 369 @ 36912

922 + 24z — 11.

4. |If

then  prove that

° Watch Video Solution

5. Find the mean deviation from the mean for the following continuous

frequency distribution.

Sales in Rs. thousand 40 — 50 50 —60 60— 70 70— 80 80— 90 90
Number of Companies 5 15 25 30 20 5

° Watch Video Solution



https://dl.doubtnut.com/l/_6rerV1m4BGaC
https://dl.doubtnut.com/l/_ouui8qT8VfZb
https://dl.doubtnut.com/l/_VB3fkMcYzwmD
https://dl.doubtnut.com/l/_mXmmVpWyCkDv
https://dl.doubtnut.com/l/_qF9Y2N0GIPxM

6. State and prove Baye's theorem.

° Watch Video Solution

7.The range of a random variable X is {0, 1, 2}.
Given that
P(X=0)=3C*P(X=1)=4C - 10C*, P(X =2) =5C — 1

Find the value of C.

° Watch Video Solution

8. The range of a random variable X is {0,1,2}. Given that
P(X=0)=3¢P(X=1)=4c—10*, P(X =2) = 5c— 1
i) Find the value of c

iy P(X <1),P(1< X <2) and P(0< X < 3)

° Watch Video Solution



https://dl.doubtnut.com/l/_qF9Y2N0GIPxM
https://dl.doubtnut.com/l/_qcPdjTQlCwRl
https://dl.doubtnut.com/l/_L99Tw8RF7xdy
https://dl.doubtnut.com/l/_sVWyHX4uwozK

9. The range of a random variable X is {0,1,2}. Given that
P(X=0)=3¢P(X=1) =4c—10* P(X =2) = 5c— 1
i) Find the value of c

iy P(X <1),P(1< X <2) and P(0 < X < 3)

° Watch Video Solution

1. Find the square root fo ( — 5 + 127)

° Watch Video Solution

2.Ifz; = — 1,2y = 1, then find Arg(z—l).
z2

° Watch Video Solution

3.Find the value of (1 + 4)'°.


https://dl.doubtnut.com/l/_sVWyHX4uwozK
https://dl.doubtnut.com/l/_iDy5bPPtxJET
https://dl.doubtnut.com/l/_Wh0f4YOPA0bi
https://dl.doubtnut.com/l/_hIwi9BqGgwTu

° Watch Video Solution

4.If o, (B are the roots of the equation az® + bz + ¢ = 0, then find the

1 1
value of — + —

/82

° Watch Video Solution

5. Find the algebraic equation whose roots are 2 times the roots of

2’ — 22 + 32 — 222 +42 +3=0

° Watch Video Solution

6. Find the number of ways of arranging the letters of the word

"INTERMEDIATE".

° Watch Video Solution



https://dl.doubtnut.com/l/_hIwi9BqGgwTu
https://dl.doubtnut.com/l/_qJy0738AkUzS
https://dl.doubtnut.com/l/_Axo3d91UIQuz
https://dl.doubtnut.com/l/_kDCC4O9XBz1d

7.1f"P. = 5040 and "C, = 210,find nand .

° Watch Video Solution

8.Uf(1+z)" =ag+ a1z + apz® +.......... + a,z",then show that
(Yag —as+ag —ag+......... :2"/2cos.n74ﬂ-
(i) ajas + a5 —ay + ........ :2"/2sin.%

° Watch Video Solution

9. The variance of 20 observations is 5. If each observations is multiplied

by 2, then the new variance of the resulting observations is

° Watch Video Solution

10. A poisson variable satisfies P(X=1) = P (X = 2). Find P(X = 5).

° Watch Video Solution



https://dl.doubtnut.com/l/_fPcN6j4Fi3f3
https://dl.doubtnut.com/l/_nWftyQSKfCHp
https://dl.doubtnut.com/l/_KaqD95eLoYQn
https://dl.doubtnut.com/l/_SPsP1eyLlYL9

11. Find the complex conjugate of (3 + 47)(2 — 3i)

° Watch Video Solution

12.If z; = — 1, and z3 = — i, then find Arg (2122)

° Watch Video Solution

13. Find the values of the following :

i oi\ (v o)
s

° Watch Video Solution

14.1f o, (B are the roots of the equation az? + bz + ¢ = 0, find the values

of the following expressions in terms of a,b,c.
1 1

a fp



https://dl.doubtnut.com/l/_SPsP1eyLlYL9
https://dl.doubtnut.com/l/_Z6bQOwJPosxi
https://dl.doubtnut.com/l/_Fhfib2VltGnZ
https://dl.doubtnut.com/l/_jPOiVQxdipj2
https://dl.doubtnut.com/l/_cHsNTbmCyVDF

| ° Watch Video Solution

15. If the product of the roots of

4z% + 1622 — 92 —a = 0is9,then find a.

° Watch Video Solution

16. Find the number of ways of arranging the letters of the word.

PERMUTATION

° Watch Video Solution

17.1f10. "Cy, = 3.""1C; find n.

° Watch Video Solution



https://dl.doubtnut.com/l/_cHsNTbmCyVDF
https://dl.doubtnut.com/l/_fjdD8UHyw0rv
https://dl.doubtnut.com/l/_YvtWuKiP8eji
https://dl.doubtnut.com/l/_OYptzZBgR5s4

18. Find the set of values of x for which the binomial expansion

(3 — 4:1:)3/4 is valid.

° Watch Video Solution

19. Find the mean deviation from the mean of the data 6,7,10,4,12,13,12,16.

° Watch Video Solution

20. The probability that a person chosen at random is left handed (in
hand writing) is 0.1 what is the probability that in a group of ten people

there is one and only one who is left handed.

° Watch Video Solution



https://dl.doubtnut.com/l/_Hn9EheT4AhdI
https://dl.doubtnut.com/l/_JeO30k05u7jv
https://dl.doubtnut.com/l/_hPld6z8y93u5

1.1f z=x + iy and if the point P in the argand plane represents z , then the
locus of P satisfying the equation

|z-2-3i|=5

° Watch Video Solution

T+ 2
222 4+ 3z + 6

2. Find the range of

° Watch Video Solution

3. If the letters of the word MASTER are permuted in all possible ways and
the words thus formed are arranged in the dictionary order, then find the

rank of the word "REMAST" .

° Watch Video Solution



https://dl.doubtnut.com/l/_EZdMdqKFljQG
https://dl.doubtnut.com/l/_CLZQWW3bBwMz
https://dl.doubtnut.com/l/_lSuWjPKF02kN

4. Find the number of ways of selecting a cricket team of 11 players from 7
batsmen and 6 bowlers such that there will be atleast 5 bowlers in the

team.

° Watch Video Solution

2
¢ — 3
5.Resolve into partial fractions.
(r +2)(z2 +1) P

° Watch Video Solution

6. Two persons A and B are rolling die on the condition that the person
who gets 3 will win the game. If A starts the game, then find the

probabilities of A and B respectively to win the game.

o Watch Video Solution



https://dl.doubtnut.com/l/_BVRU3AmnPjZx
https://dl.doubtnut.com/l/_exUfQEg3l5s5
https://dl.doubtnut.com/l/_95cl07vV6wfE

7. A problem in calculus is given to two students, A and B whose chances
of solving it are 1/3, 1/4 respectively. Find the probability of the problem

being solved if both of them try'independently.

° Watch Video Solution

8. Show that the points in the Argand plane represented by the complex

3 1
numbers —2 4 7i, — s tst i4 — 3i;(1 + 4) are the vertices of a

rhombus.

° Watch Video Solution

1 1 1
+ -
3z+1 z+1 (Bz+1)(z+1)

9. Prove that does not lie between

1and 4, if x is real.

° Watch Video Solution



https://dl.doubtnut.com/l/_3R0Nacwy0UHe
https://dl.doubtnut.com/l/_w8jAHb4xiUNx
https://dl.doubtnut.com/l/_bQ6t3EOQONXY

10. If the letters of the word EAMCET are permuted in all possible ways
and if the words thus formed are arranged in the dictionary order, find

the rank of the word EAMCET.

° Watch Video Solution

4
1. Simplify **C5 + §0<38—’")C4.

° Watch Video Solution

222 + 3z +4 , :
12. Resolve the into partial fractions.
(z —1)(z2 4+ 2)

° Watch Video Solution

13. If two numbers are selected randomly from 20 consecutive natural
numbers, find the probability that the sum of the two numbers is (i) an

even number (ii) an odd number.



https://dl.doubtnut.com/l/_E1GJFWCLNIHO
https://dl.doubtnut.com/l/_smkgdyw5OLyI
https://dl.doubtnut.com/l/_D76EOmnZR9iu
https://dl.doubtnut.com/l/_1c8dN0R7ObMQ

_ o Watch Video Solution

1. Find all the roots of the equation

-z 4zt —1=0

° Watch Video Solution

2. Solve the following equations . z* — 1023 4 26z? — 10z +1 =0

° Watch Video Solution

3. Prove that : If n is a positive integer and x is any nonzero real number,

then prove that

2 :133

z z " (1+z)"" -1
Co+Ci—+Cy. — +C3. — +.... +C. =
0o+ 12+ 2 3—|— 3 4—|— + 1 TR

o Watch Video Solution



https://dl.doubtnut.com/l/_1c8dN0R7ObMQ
https://dl.doubtnut.com/l/_TNssqqcL4Ink
https://dl.doubtnut.com/l/_6g2uw53h1coM
https://dl.doubtnut.com/l/_wQh0M85RU1Xg

_ 13 135 1357 " o
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9z2 + 24z = 11.

4, If =z

° Watch Video Solution

5. Calculate the mean, vartiance and standard deviation for the following

distribution.

Class . |30-40 |40-50|50-60|60-70 [70-80| 80~90 a_u-mu]
Frequency| 3 T'. 12 15 B 3 2

° Watch Video Solution

6. If P(A) = 0.3, P(B) = 04, P(C) = 0.3,
P(ANB) =0.08,P(ANC) = 0.28, ANBNC) =0.09,P(AUBUC

then show P(B N C) lies in [0.23, 0.48].

° Watch Video Solution



https://dl.doubtnut.com/l/_wQh0M85RU1Xg
https://dl.doubtnut.com/l/_3rtbJUzLgbhX
https://dl.doubtnut.com/l/_VV2eF3TVfnGt
https://dl.doubtnut.com/l/_yIri2p95fY4W

7. Find the mean and variance of the random variable X which follows the

following distribution

X=x
P{X= x) 02|03]|04

o Watch Video Solution

8.If A, B are independent events with P (A) =0.2, P (B) = 0.5 Find
p A
B

° Watch Video Solution

9.I1f A, B are independent events with P (A) =0.2, P (B) = 0.5 Find
B
Pl —
(%)

o Watch Video Solution



https://dl.doubtnut.com/l/_q1yBOaTzKKpC
https://dl.doubtnut.com/l/_tAizSKUmOsy3
https://dl.doubtnut.com/l/_bo5w3Er9PIzL

10.If A, B are independent events with P (A) =0.2, P (B) = 0.5 Find

P(AN B)

° Watch Video Solution

11.If A, B are independent events with P (A) =0.2, P (B) = 0.5 Find

P(A U B)

° Watch Video Solution

12.If cosa + cos 8 + cosy = Osina + sin 8 + sin+y, Prove that

3
cos® o + cos? B + cos’y = 3= sin® o + sin® B + sin? .

° Watch Video Solution

13.Solve z* + 2® — 16z? — 4a + 48 = 0 given that the product of two of

the roots is 6.

| e |


https://dl.doubtnut.com/l/_e3qyV50oyLpR
https://dl.doubtnut.com/l/_NUk5OOef0mxa
https://dl.doubtnut.com/l/_U302Nl7044Wi
https://dl.doubtnut.com/l/_2LQTSOYgANZ8

| & Watch Video Solution

14. If the coefficients of r®, (r +1)™ and (r +2)"® terms in the

expansion of (1+z)" are in AP then

n? — (4r + D)n + 4r* — 2 = 0.

show

that

o Watch Video Solution

5 n 5.7 n 5.7.9
(21).3  (31).3%  (4!).3®
then find the value of 22 + 4z.

15.If x =

o Watch Video Solution

16. Find the mean deviation about the mean for the following data.

Mafks obtained | 0~10 | 10-20| 20-30 | 30-40 | 40-50

| No. of students -5 |, 8 15 | 16 |- 6

o Watch Video Solution



https://dl.doubtnut.com/l/_2LQTSOYgANZ8
https://dl.doubtnut.com/l/_oLRT6YTl23M3
https://dl.doubtnut.com/l/_RnsBEdOnDAwv
https://dl.doubtnut.com/l/_1R2xzWH4VruD

17. State and prove addition theorem on probability.

o Watch Video Solution

18. The range of a random variable X is {0, 1, 2}. Given that

P(X=0)=3¢P(X=1)=4c—10* P(X =2) =5c—1.  find
the value of c

° Watch Video Solution
19. The range of a random variable X is {0, 1, 2}. Given that
P(X=0)=3¢P(X=1)=4c— 10} P(X =2) =5c—1.  find

the value of ¢

o Watch Video Solution



https://dl.doubtnut.com/l/_1R2xzWH4VruD
https://dl.doubtnut.com/l/_5ZAmnLW3YPUK
https://dl.doubtnut.com/l/_NitfWv92ol9n
https://dl.doubtnut.com/l/_O5OI4zC1ZxNp

20. The range of a random variable X is {0,1,2}. Given that
P(X=0)=3¢P(X=1) =4c—10*, P(X =2) = 5c— 1
i) Find the value of ¢

i) P(X <1),P(1< X <2) and P(0 < X < 3)

° Watch Video Solution

21. The range of a random variable X is {0, 1, 2}. Given that
P(X =0) =3, P(X =1) = 4c — 10*, P(X = 2) = 5¢ — 1 where ¢
is constant.

Find (i) the value of c (ii) P(X < 1)

(i) P(1 < X < 2) (iv) P(0 < X < 3)

° Watch Video Solution
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